POSL.

www.posu-pneumatic.com

8H Speed Controller

HE
Straight

st o

o s L Eaar] TA MIN s eihe

PSF[_14-M3-NI 249 | 9 | 26 M3X0O5| 3 |287 | 2641 | 15 | 49 | 89 | 1
PSFL14-M5-NI 249 | 9 | 26 MEX08 | 35 | 201 | 26.8 | 173 | 49 | 99 | 1
PSFL4-01-NI | 4 8 |207 | 107]| 29 |152 [PTim | & | 364 | 317 |69 | 67 | 99 | 1.9
PSFJ4-02-N| 335 | 13 | 331 PT1/4 | 97 | 415 | 365 | 19 | 98 | 99 | 2.5
"PSFL_4-03-NI | 399 | 148 | 331 PT3/@ | 10 | 471 | 426 | 22 | 115 | 99 | 2.5
PSFLIB-M3-NI 249 | 9 | 26 M3x05 | 3 [287 261 15 |49 [ 00 | 4
PSFLI6-M5-NI 249 | o | 269|161 |M5x08| 35 | 2941 | 268 | 16 | 49 | 106 | 1
PSFL16-01-NI | 6 10 [207 | 107 206 PTUE | & | 352 | 317 |182 | 67 | 106 | 1.9
PSFL16-02-N| 335 [ 120 [345] [ PT14 [ 97 [ 412 [365 [203 ]88 [ 11 [ 3
PSF6-03-NI 39.9 | 14.8 | 36.4 PT3/8 | 10 | 468 | 426 | 22 |115| 11 | a4
- PSF[18-01-N| 206 | 106 | 355 | 21.8 | PTIB | 6 | 352 | 317 |222 | 67 | 133 | 5.5
- PSFLIB-02NI | o [ .0 [345[ 122383 PTi/4 | 85 | 412 | 365 | 235 | 93 | 142 | 5.5
PSF8-03-N| 408 | 152 | 428 | 226 | PTais | 10 | 46.8 | 426 | 258 | 115 | 142 | 5.5
B PSF[_8-04-N| 462 | 18 | 452 PT1/2 115 | 588 | 517 |281 [ 137 [142 | 6
R PSF[]10-02-NI 345 | 125 | 445 PT1/4 | 85 | 412 | 365 |253 | 93 |158 | 7
R PsE[110-03-M| 10 | 187 |407 | 152 | 48 | 278 | Pram | 10 [ 468 | 426 [257 | 89 [158 | 7
E%ﬂ%‘igd type PSF[_10-04-NI 475 | 182 | 53 PT1/2 | 143 | 58.8 | 517 |323 | 89 | 158 | 7
psFLIt20aN| | 1407|148 |495], | PTam |101[477 | 432 |27 [102 181 ] 7
PSFL_112-04-N| 477 | 188 | 554 PT4/2 | 14 | 58.8 | 51.7 | 30.2 | 10.2 | 182 | 9.2
L
NI Straight (Ivory) : CAD | CAD E={ir{(I

PSF 14-M3-NI-W 249 | 9 | 26 M3X05| 3 |287 | 261 | 15 | 49 | 99 | 1

PSF_4-M5-NI-W i a 249 | 9 26 15.2 M5X08 [ 35 | 291 | 268 |[173 | 49 | 99 1

PSF_4-01-NI-W 20.7 | 10.7 | 29 PT8 | 6 | 364 | 317 (169 | 67 | 98 | 1.9

PSF_4-02-NI-W 335 | 13 | 331 PT1/4 | 87 | 415 [ 365 | 19 | 98 | 98 | 2.5

"PSF[14-03-NIW | 390 | 148 | 331 PT3/8 | 10 | 471 | 426 | 22 |115 | 99 | 2.5

PSFLIE-M3-NI-W 249 | 9 | 26 M3X05| 3 | 287 | 261 | 15 [49 | 99 | 1

PSFLI6-M5-NI-W 249 | 9 | 269|161 | msx08| 35 | 201 | 268 | 16 | 49 [106] 4

gRE1 E2 PSFLIE-01-N-W | 6 10 [207 107 | 296 PT1/8 | 6 | 352|317 |18.2 | 67 | 106 | 1.9
@D PSF[J6-02-NLW 335|129 | 345| | PT14 | 07 |412 [365 (203 88 | 11 | 3
<O o PSFLI6-03-NI-W 39.9 | 14.8 | 364 PT38 | 10 | 468 | 426 | 22 |15 | 11 | 4
—| 1 i =™ pSFI8-01-NI-W 206 | 106 | 355 | 218 | PT1/8 | 6 | 352 | 317 |222 | 67 | 133 | 55
i ) PR PSFLIB-02NIW | o 13g | 345|122 | 393 PT1/4 | 85 | 412 | 365 | 235 | 93 | 142 | 5.5
_LT ranfan oy PSFL18-03-NI-W " | 408|152 | 429|226 | Praie | 10 | 468 | 426 | 258 | 115 [1a2 | 55

< -l PSF[_18-04-NJ-W 462 | 18 | 452 PT1/2 [11.5 | 588 | 517 |28.1 [ 13.7 | 142 | 6

= PSFL110-02-NI-W 345 | 12.5 | 445 PT1/4 | 85 | 412 | 365 |253 | 03 [150 | 7

5 PSFL10-03-NI-W| 10 | 167 |40.7 | 152 | 48 | 278 | PTam | 10 [ 468 | 426 |257 | 89 [158 | 7

Metric thread type PSFL_10-04-NI-'W 475 | 182 | 53 PT1/2 | 143 | 588 | 517 |323 | 89 |159 | 7
DI PSF[_12-03-NI-W i i 407 | 148 | 495 o PT3/8 | 101 | 47.7 | 43.2 | 27.8 | 10.2 | 181 7
PSFL_[12-04-NI-'W “ lar7 188|554 [Pz | 14 |88 | 517 |302 |02 [182] 92

MeERR
Union Straight
e2es,......

& s b Faard NlAK Ml W EmILE

PSU4 4 415 11 |29.5| 26 8 15 14 6.8 13 | 125 | 21
PSUB 6 50 15 |41.5| 36 10 17 20 85 | 165 | 285 4
PSUB 8 55 18 46 | 40.56| 13.6 | 1856 | 22 9.5 19 43 5.5
- PSU10 10 64 | 21 52 | 46.6| 16.7 | 2056 | 26 11 23 | 68.5 5
PsU12 12 75 | 28 56 49 | 19.6 | 23.5 | 32 13 | 205 | 115 9.2

F2

8
R

2-C

IO

NI:Release Ring (Metallic Body)




